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V Semester 3 Year LL.B./IX Semester 5 Year B.A.LL.B./B.B.A.LL.B./B.Com.
LL.B./B.A.LL.B. (Maj.-Min. System) Examination, October/November 2022

Duration : 3 Hours

(June 2022)
Opt. — Il : INTELLECTUAL PROPERTY RIGHTS -1

Instructions : 1. Answer Q. No. 9 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

Q. No. 6.

questions.

2. Q. No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or
Kannada completely.

What is intellectual property ? Explain the laws relating to those
properties in India.

?.336%5 RB) HOTTER ? YPTTRQ, woBS FBNVN ToW0DAT

FoOONTRY, WNORD.
) 2

Define the term ‘Patent’. Explain non patent table inventions.
AT DT, &g FR0. AJTO  LeESHNT 'ﬁozﬂmzﬁéﬁ@dg{
DWORD.

Explain the procedure for applying and granting of patents.
AJTONTD), SReTS TREL Y VB QTR %3, 000NTY
DTOKD.

What is infringement of trade mark ? Discuss the remedies
available for infringement of trade mark.

9, T0 WR 00 YOQOTT DOTTET 7 ,TT WH03 YVQOTFIN
O DT TOTOONTI), wIFR.

Explain the salient features of Information Technology Act, 2000.
WRkE 038,2T 03, 20000 B, wFHNEIY DTOAD.

Define Geographical Indication. Discuss the offences and
penalties under geographical indications (Registration and
Protection) of Goods Act, 1999.

PR RS 9,809, . PRRewE e (Srcomed w08
Og£) AOES @RI, 199989 WD WTTHHENL 02
TOBINTI), WWFA.
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Q. No. 7. Explain patent co-operation treaty.
AYTD AHTIT uﬁowﬁ%ﬁoﬁoa’% QNWORD.

Q. No. 8.

Q. No. 9.

Write short note on any two of the following :

B3 FPNT 03 TIRTR NTET Woeed T 853¢d WTOD
(a) Passing off.

wowm@g TOTVTBHRCTINT.

(b) Cyber crimes.

RBWT' STOIGNLD.

(c) World Intellectual Property Organisation (WIPO).

Solve any two of the following problems :

238, P8 33 R0D.
3 @ S -0

FENT CCNRTOTTR T xmﬁgma& WRZOR0 :
(a) The co-owner of the patented Article assigns his share in it

(b)

to a third party without the consent of the other co-owner.
Decide the validity of the assignment.

R T0 BLODTT TIPF T BB-LBONW 37 WO PONBI),
WRTSE TEMTIN AR, AT-LREODT A8
DERBRTITIS. & BEAZPBIVFO NWWFBZONR), IGFOA.
Kiran who is an authorised user holding a right in a

registered geographical indication dies. On whom does
his right devolves ?

30T WY VRFET WITDIORO JRCOTIOWT  GRRRedT
BRWID #oed BT, TRODTOTRI BITEd TROTOZS .
B3I T, 03%0n DERAOTWZE ?

‘A’ is the proprietor of registered trade mark ‘REDIFF’.

‘B’ registered the domain name/trade mark ‘REDIFF’.
Does this amount to infringement of trade mark ?

‘@ 20womsy ‘Bax’’ (‘REDIFF)oow 9,00 23, 050
JRe0TRONE IR EFTONTOTS. ‘W’ 0w 3&%° (‘REDIFF)
DOV BRI T /9,700 WH, JR0TICRITS. ‘20D
B3 3T WTT WHOH VY OPVOIBATE ?
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